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. The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and | 9

Instructions for the Candidates

. Write your Hall Ticket Number in the space provided on the top
of this page.

. This paper consists of seventy five multiple-choice type of

questions. 3.

. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
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the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet

Number should be entered on this Test Booklet. 4.

. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ @

where (C) is the correct response.
. Your responses to the items are to be indicated in the OMR Answer

Sheet given to you. If you mark at any place other thaninthe | 5.

circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant

entries, which may disclose your identity, you will render yourself | 8.

liable to disqualification.
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Paper -l
058 =1

1. @) Doz 8B SED BT DHE woBo

1. Equality of status accorded to all religions is
qually J 58100 DGO 2 DGO LeOJ

(A) Democracy
B

A) (HerTeoo
(B) Pluralism EB; L:Q{; °

_ QITOTLB0
(C) Secularism (©) Tdsso
(D) D)

D) Theocracy D

2. Individuals born around the same time .
2. T 28 57008 e Hkoe DR00eTED ?

are called as
(A) Birth Group (A) 235 D30T
(B) Siblings (B) Senenpen
(C) Friends (C) rdoed
(D) Peer group (D) 550 BADR)© BHoTTH0
3. The focus of science and technology 3. 73 oSS IgrivHas dog), BEr SyRDedpis
policy has been declared to be on ?Q;ié@om PSR
I. Permitting foreign investment in Indian 05505 @oégo ® &

scientific establishments
Il. ers80%0 &5 50050 JoTeoSihs

05 TR SoEred’ FIEnToN
2283C00B0 @RORYOWCEO
Il @05 B¢ grads 58S’ 570
20850 Torets eHd Dabeo
V. giéeaocsoxoeis Q8B FHTA HATFO

Il. Facilitating private sector investment
in R & D centers in India and
overseas

lll. Promoting establishment of large
R & D facilities in PPP mode

IV. Allowing private sector to manufacture

EI0DOWCEO
military equipment ?&Q :

Codes : (A) 1, 115352
(A) land Il are correct (B) I, 115359
(B) Iland Il are correct

(C) 1,1V
(C) land IV are correct -
(D) lland IV are correct (D) 11, Vo

[ 3 A-22-03




4. The role of NGOs in women development
lies in
l. Organizing the poor women to create
hope for development
Il. Providing food to the needy

lll. Professionalization of women’s skills

IV. Demoralizing the poor

Codes :
(A) land Il are correct
(B) lland IV are correct
(C) llandlll are correct

(D) I'and Ill are correct

5. Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : The folks follow great
traditions.

Reason (R) : The elites follow little

traditions.

Which of the following is the correct

answer ?
(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’ is wrong, but ‘R’ is correct
(

D) Both ‘A’ and ‘R’ are wrong

4. Qo eDHRE PRLBEBE Sogo T e ?

| 25 B0l efnh B et 500 Soguedso
Daeso
Il. 555538300 7708 es5550 HEHT° DD
lll. Sorsod’ PRETEss porodonto
V. 0eeis Azyd5Eico
&, :
(A) 1, 115035
(B) I, V5352
(C) I, 1ISee
(D)

D) I, lll:seid

5. ods 5Oy Dot TSeed” atked RIS (A),

BocERd e (R).

BOFES (A) 1 emiSsideion GG

TPORTAITOR0 T30,
w0 (R) 1 3peskond we) oEmairess
a3,
e3S° DB O 2997550 ?

(A) ‘A’ 5308, 20 ‘R’ &5y
(B) ‘A’ 208050 ‘R’ Do 5305
(C) ‘A’ 83 = ‘R’ 5390

(D) ‘A’ 5000k ‘R’ Bokr Say
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6. Samir Amin argues that ascent and
descent of imperialism are largely
determined in our age by
besides others.

I. Monopoly control over global
finances

Il. Monopoly of heavy industries

[Il. Monopoly over international
communication and media

IV. Monopoly over higher education
Codes :
(A) land Il are correct
(B) Iland Il are correct
(C) land lll are correct
(D) Iland IV are correct
7. Arrange the following stages in a

sequence which may lead to
intergenerational conflict.

I. Conflict between younger and older
generations

Il. Modern education
lll. Prevailing of traditional values

IV. Resistance to domination of older

generation
Codes :
(A) IV, I, Nland |
(B) IV, Il 1and
(C) LIV, lland |
(D) L1, IVandl

6. V6 S TES BeSo NG eos’
BT 3575578, @90 et JHON0WDHE
2 9

| (90w €08 5595 P MHTEHSE0
Il 278 28R  MHTEHHE0

lll. eso8berdam B, D595 500000 570 BG*
B BT R MOTRHE0

V. &5 D5 MOTD0H50

&,

(A) 1, 115359

(B) I, Il 552
(C) 1, Il
(D) 1I, V5352

7. 2 HT0 50055 5383 TOSAI A 5F0i
2.5 (550 5GBS 5ot
| Cises, S)EETe Soc Hoges
Il e300 2ess

lll. SroRmeald> Jewse T°

V. Eéq)cg ST @@XJ@§$§ (LRI

&,
(A) IV, 11, [l 5580565
(B) IV, I1I, I 50050 |l

(C) NI, IV, Il 5580501

(D) 11, 11, IV 558050 |

E3

A-22-03]




8. Match the theory with the idea :

List-l (Theory)

I. Radical Theory

Il. Gender
Oppression
Theory

Il. Indicators of

Women’s Status

IV. Oxfam America
and
Codes :
| Il 1]
(A) 3 4 1
B) 2 3 1
(C) 4 2 3
(D) 1 3 4

9. Match the author in List-l with the

1

List-ll (Idea)

. Social
Status

2. Self-Help

Development
Project

3. Feminist

Theory

4. Subjugating

Oppressing
Women

v
2
4
]
2

concerned book in List-Il :

List-1 (Author)

List-1l (Books)

YT RTA
8. (ot 0eJ5-1 & 300 drosdy B3Il 87 9%
858 esBHSERR00,

335 (beponi) el (es8%K)

l. eooes ?o@oé;ﬁao 1. TR50eE oy

Il & eedde RTFoBH0 2. Q50500 DIFAND
A2 a3
M. ?9}@ ©OTY Jrdse 3. ?9}5"65 N aehs

IV. efrSends 4. Jos Sasieo

9£200T¢S0
&,
| Il ] v
A 3 4 1 2
B 2 3 1 4
C 4 2 3 1
® 1 3 4 2

9. 5035169y BB Seds-Il & HEses’
QBHGBI[0.

l. M.N. Srinivas 1. Whither India B35 -1 (SWowder)  #g35 -  (HRsHooe)
ll. S.C. Dube 2. Problems of . 35508, BIwH 1. 255 50800
Indian Youth
Il. G.S. Ghurye 3. India’s Il 985 &re) 2. Painel
Changing ROGODHS OIS
Villages
_ g Il 22.0308. /S . 0GR DozZoh
IV. D.P. Mukerjee 4. The -
remembered e
village IV. &2, S29d . & GRoowd I8
C : :
odes ga(%_
| | ] v I I m v
A 2 3 4 1 A 2 3 4 A
® 4 1 2 3 B 4 1 2 3
© 2 4 1 3 ©c 2 4 1 3
® 4 3 1 2 D 4 3 1 2
B3 A-22-03 |




10.

11.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Common sense views
on differences between
men and women tend to
assume that there are
distinct, consistent and
highly significant
biological differences
between the sexes.

Reason (R) : In some people though
they look like male or
female, there are
biological and genetical
differences to be called

as third sex.

Which of the following is the correct

answer ?
(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong, but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
Important factor for nation-building is
(A) Federal Government

(B) Equal sharing of resources
(C) Reorganization of states
(D)

D) Strong leadership

10. 8o 30y Boc TTgE" a8kl RITEH (A) &°

11.

BocERd e (R).
BOFED (A) 1 DB, o DGO
Do §%erisod”
KNIRS, DOFEHD, (55008200

g2E 255@531’@307? Niehfarrvjied

ooy (R) 1 FoB 5008 H55e Hees
S Yon ESVAIT0 $oGs
B, es0g00RI

BP0 H0cedsY 0

00°¢550 oo HONE3TD.

IS DA B 09750 ?

(A) ‘A’ 5858, 522 ‘R &y

(B) ‘A’ 208050 ‘R’ Do 505
(C) ‘A’ 83 ‘R’ 5390

(D) ‘A’ 5000k ‘R’ Bodkr Say

28 - ATE08” BRI S50 T (b
Te38° 08 2

(A) D0y EedEs0
(B) 5:5600 1555 5053
(C) oo e Jevests
(D) $58R% TaEE0
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12. Match the sex-ratio in India with the
census year in which it was registered.

Sex Ratio Census Year
l. 934 1. 2001
Il. 933 2. 2011
. 927 3. 1981
IV. 940 4. 1991
Codes :
I I n Iv

A 1 4 2 3
B 2 1 3 4
Cc 4 2 1 3

)y 3 1 4 2

13. Which of the following are the most
important attributes of a dominant caste ?

l. Sizeable amount of arable land
Il. High educational achievement
lll. Jobs in the administration

IV. Urban sources of income

V. Numerical Strength of the caste
Codes :

(A) 1, lland V are correct

(B) 1, lland V are correct

(C) I, llland IV are correct

(

D) I, lland IV are correct

12. er580508° o IRA TS Ho20QS vy

B, DOBEHTOE LBHEWR.
Dol %D T TH)© oo
. 934 1. 2001
Il. 933 2. 2011
. 927 3. 1981
IV. 940 4. 1991
&,
I i i v

) 3 1 4 2

13, ©QI8; Heo Glod), FETeo A3 ?
. ©Q5DoBod” SE5Trod MNP 800
Il. &5y Desgo FQoideio
lll. 50058’ elgre
V. 56289 STO0B e5TOi0

V. o Qogrgeoo
&,

(A) 1,11,V 3603050

(B) I, 11l V3603059
(C) I, I, IV 586352
(D) 1, 11, IV 663052

E7
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14.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Investmentin education
promotes economic
growth.

Reason (R) : Education widens
social inequalities.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong, but ‘R’ is correct

15.

(D) Both ‘A’ and ‘R’ are wrong

Who identified eleven intermediate
variables affecting fertility ?

(A) Goode

(B) Davis and Blake

(C) Mac Iver

(D) Moore

14. 8ocs 30y Bocs 757" 2,563 EEIES (A),
BocERd e (R).
BOFES (A) 1 D38 egarts es0s=Pin0d

&5 o008
ooy (R) 1 D Sires eiroson
K000% D3P B0
e3S° DB B W70 ?

(A) ‘A’ 5308, 20 ‘R’ &3y
(B) ‘A’ 208050 ‘R’ Do 505
(C) ‘A’ 83 = ‘R’ 5390
(D) ‘A’ 5000k ‘R’ Bodkr Say

15. 55T 67080 Do 11 50G50808 T o0
FOQODD/E A 2
(A) K&
(B) @25, 25
(C) 575 00
(D) 2056

16. Match the authors and their contention on 16. &2 00 (TOEETOD, FIFEE DBV
social problems. 5020800 TG FoSoDIS TS S o8
Author Contention ot
I. Warren 1. gtr;)alﬁﬁgdor ossy S
Relationship l. =S 1. AP B Doedsd
Il. Whyte 2. Cultural Lag ©OBOLIR
Approach Il 265 2. IO )BE Jooexs
lll. Elliott and 3. Deviant or Non- G0
Merrill approved lll. 39c0eT 000 3. OB S S0 8
group organization 268 PSP ;,35;5:‘;;;;5
IV. Ogburn 4. Lack of . IV. esfiedy 4. ISHADO T
controtand oo o
(
integrity D8sser BZrscso
Codes : 5
| I i v I | [} Iv
A 4 3 1 2 (A 4 3 1 2
B 1 4 2 3 ® 1 4 2 3
Cc 3 1 4 2 ¢c 3 1 4 2
® 2 4 3 1 @ 2 4 3 A
[ = A-22-03 |




17. The accepted indicators of women’s
development are

I. Sex Ratio
Il. Abortions
lll. Literacy Levels
IV. Economic Participation

Codes :
(A) 1, 1land Il are correct
(B) Il, llland IV are correct
(C) L llland IV are correct
(D) L1, Iland IV are correct

18. Who pioneered classical school of
criminology ?

(A) J. Bentham
(B) Charles Goring
(C) C. Lombroso
(D) C. Beccaria

19. Match the author with the book.

(Author) (Book)
I. Warner Sombart 1. Deer
Modern
Capitalism
Il. B.H. Jorbough 2. Communist
Manifesto
lIl. Marx and Engels 3. Industrial
Relation and
the Social
Order
IV. W.W. Moore 4. Gold Coast
and the Slum
Codes :
| Il ]| \'}
(A) 3 4 2 1
B) 1 4 2 3
< 1 3 4 2
(D) 4 1 2 3

17.

18.

19. &+

K0T eaé’,):ég&é 508300 LITEAT D
Qg0 D 9

l. Qo[

Il. {‘TCS?J@W@JJ

Il SSopv e ﬁgooo
IV. 508 ernorgiogo

&,

(A) 1, 1150805 111 58552
(B) 11, 111556050 1V 5059
(C) 1, 150805 IV 55352
(D) 1, 11, 111558050 IV 5352

2085 077, 6 55 1§00 Ghog), S D ?
(A) 2. 3550
(B) 7685 ”’eoh
(C) 2. eroesaP
(D) 2. B=°0aX®
52 05 QODERIGS FBOoBKI, T8 (Togres
HDSBOH0.
(buaxo®) (tiogso)
. 36,6 Foerd 1. &Buresdy
S‘°§>éaé’)230

Il .35 £0erhl 2. 5or0Q SR

lll. 556y, oRd, 3. 306 Q0N 681G
©0& & TN
b

IV. e e s 907 4. REEQwok & ¥

&,

| noomwv
A 3 4 2 1
B 1 4 2 3
Cc 1 3 4 2
o 4 1 2 3

E7
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20. India is acclaimed as a secular country
because

l. 1t has many religious communities

Il. Different religious communities have
co-existed peacefully

lIl. Inter-religious community conflicts
have been handled as per law

IV. People want a peaceful atmosphere
Codes :

(A) 1, Mand | (B) I, llland IV
(©) N, IVandll (D) I, 1IVandlll

21. Choose the correct order of Marx’s modes
of production.

l. Feudal

Il. Ancient (Asiatic)
lll. Modern bourgeoise
IV. Primitive communism

Codes :

(A) IV, I, Tand I B8) 1,1, land IV

©) LIV, lland | (D) L L IVandll
22. Given below are two statements, one

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Population growth
contributes to prosperity
of the country.

Reason (R) : llliteracy is one of the
causes of population
explosion.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

20. 3rSB0E0 S8 DFOT DETTODE. JOIEIT
|, ©906508° ToP SoBDERN DSt o)

Il AAE [oBBES DForTfen T osone
3557285590 M1E8033)BoTa00

. DA [0 D508 B35 HOWBOYS
ROPOTEIDBD WIS oD’ 2erer0

~lolplelal
V. Dezo0 (0308 TP@°S J 35500850
§E0e0TH D
&,
(A) 11, 508 | (B) 1, 1558050 IV

(C) M, IVSstoxoll - (D) I, IV Soeas

21. (gois 72y 56 5578y, ) G300, &S DFBo
50 3SE” esodinSon.
|, giargsog
Il @20 (estaxredt)
. e5¢5005 2oeperciard 9559
V. e85 8505ges0

&,

(A) IV, 11, 1508000 11 (B) 11, 1, HlSo8ams IV

(C) LIV, 5080l (D) 1, L 1V 558050l
22, ($oes 7y B TTE” a5 EHIES (A),

BoEERd wrdo) (R)

BOFES (A) 1 TS TR Etso
D008,

oo (R) 1 Aowgs ey eS8
3°5€30.

e3S° DO O 750 ?

(A) ‘A’ 5308, 20 ‘R’ &3y
(B) ‘A’ 208050 ‘R’ Do 535
(C) ‘A’ 83 ‘R’ 5390
(D) ‘A’ 500k ‘R’ Bodr Say

E3
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23.

24,

25.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : The schemes such as
DWCRA, TRYSEM,
IRDP, DPAP etc. are
introduced by the
government for the
development of the
women.

Reason (R) : The schemes are

becoming inactive
because of the failure

of the authorities in its
implementation.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

Identify the following stages in a
sequence that may follow poverty.

I. Maternal and infant mortality

[Il. Malnutrition of mothers

lll. High-cost of essential items

IV. Indebtedness
Codes :

(A) 1L 1L and IV (8) 1,1, 1Vandl
(C) 1, land IV (D) 1,1V, lland |

Longevity of the life reflects these in the
Human Development Index.

(A) Living Standards

(B) Health and Nutrition

(C) Infant Mortality
(D)

D) Purchasing Power

23.

24,

25.

8ocs 3yS Bots TSR 2563 EEIES (A),

BocEd e (R).

BOFE0 (A) 1 EabEo EET, o,
£.635.85.2., (6.2.0.2., 200D
SEERTRR DT
570 D935,

oo (R): wal soyEsre eboess’
QT EOO Qq“a@go;ﬁg
TEESTe Hoocs G
OO0,

e3S° DB O 2997550 ?

A) ‘A’ 5300, 0 ‘R &9y
B) ‘A’ 50800 ‘R’ Bodir SR
C) ‘A’ & = ‘R’ 5398
D) ‘A’ 208010 ‘R’ Do &y

(
(B) ‘A
(C) ‘A
(
205050 g &R0l HORBOORL ERHESE”
PoQoW0R0.
| 5>y, BEoodeTes
Il. Sevod® FPsirts §
Il 3@55560"@ 9QE &350
V. 2o idoossio

&,

(A) 11, 1, 508051V (B) I, 11, IV S08cs00|
(C) NI, 11, 1558055 IV (D) 111, IV, 1558055

BPETDHR DPDY E5 0 BB 700 B WS
eS80 8 ?

(A) 255 BnreTed

(B) @681‘150, 558850

(C) B SoSeren

(D) S2of‘ensd

E7

12

A-22-03|




26. Match the following opinions on
globalization with the authors.

Author Opinion
. Wallenstein 1. Bifurcation
of world into

nation-state
centric and multi-
centric world

IIl. Ulrich Beck 2. Political
Globalization

lll. Rosenan 3. Emergence of
multi-nationals
and global
exchange

IV. Daniel Bell 4. Ecological
degradation

Codes :

I | ] v

(A) 3 4 1 2

B) 2 1 4 3

(C) 4 3 2 1

D) 1 2 3 4

27. Who of the following are the followers of
the Demographic Transition Theory ?

26. (X000 &3 180CS DI WD EFOITOD
732 50200005 SHONBOE L3BDSHVO[0.

(oY A0
HEVCISEVGIS 1. oo e oreyg
Soren e,
2TVI0IES (BdoTRT
DETeBoNRICIE
Il oS aE 2. Tredamd EHodsses
. &%5=s 3. 25 erSahEHen
55001 (5505
QP é@ag)oiﬁoé\)
IV. 20085 8S 4. Sorgsses $evs
&,
I | [} Iv
A 3 4 1 2
® 2 1 4 3
(C) 4 3 2 1
D 1 2 3 4

27. GRS PSS/ (e (18808 dtroTe)
950800 T B8 308 TOE” S5E 92

. Dalton . s
Il. Thomson Il Groios
IIl. Notestein lll. S
IV. Blacker IV. epsb
Codes : £, :
(A) 1, Il and IV (B) land Ill (A) 1, 158051V (B) 1558050 I
(C) lland IV (D) I, Illand IV (C) 1l 558050 IV (D) 11, 11l 508050 IV
28. The father of globalization is said to be 28. (S50DESED DTHOTIET QOB DEOTE
(A) Arthur Hailey (A) es56 27009
(B) Giddens (B) AdS,
(C) Roland Robertson (C) Torok Talids
(D) Malcum Walter (D) 57553 b
e 13 A-22-03|




29. Position the following Indian States in the
increasing order of total population.

l. Bihar
Il. West Bengal
lll. Maharashtra
IV. Uttar Pradesh
Codes :
(A) L1ILIVandll (B) 1,1V, lland |
(©) 1,1, Mand IV (D) IV, 1l 1and 1l

30. Neo-functionalism tries to
I. The multi-dimensional
Il. Separate micro-macro action
lll. Consider rational and rational action
IV. Points equilibrium of the system
Codes :
(A) land Il are correct
(B) Iland Il are correct
(C) landlll are correct
(D) Iland IV are correct

29. Socs 28 ToLOR0 28T SPOONT 38 55es
E55008° 50850
. 58
Il. 53y Somrd
lll. S5y,
IV. &858 ©0os
&,
(A) I, 11 IVSe8axs 1l (B) 11, 1V, 11558050
(C) 11,1, 15580551V (D) IV, 11, 150805 Il

30. S0 (ESEGEH BAD MO0 HOLGRNED
l. 23550 ol
Il Sy, BT 65080 EBR00
lll. 2505, B0 B85 $0800
V. 25555 950800585 ©HGRR00
&,
(A) 1500000 11535
(B) 5085 1152959
(C) 1508050111528
(D) 1150850 1V 5052

31. Given below are two statements, one | 1+ §00 359 0o TERE 153 PSS (A)
labelled as Assertion (A) and the other B0 e (R)
as Reason (R). ROXES (A): erE80mAS VG (ProTre
Assertion (A) : India has had a long GO B35 °0D
history of inter-regional BH0EOR0, HoPOSEIR8D
conflicting demands » o
and agitations which P G0 0" S0 B0
have been resolved by 200g DOE &R
Reason (R) : Still, new demands have DB JFES AETroEes
kept arising over regional LE
issues. IR 0.
Which of the following is the correct DeIE" A0 TP BIPEH0 ?
answer ? (A) ‘A 508030 ‘R’ Botr 5859 900> ‘A
(A) Both ‘A"and ‘R’ are true and ‘R’ is the 5 R’ 585 D558
correct explanation of ‘A’ - = . S A R
(B) Both ‘A’ and ‘R’ are true but ‘R’ is not (B) VA =00 R Botr ¥gus, s'AT R
the correct explanation of ‘A’ NSSRUSCLIEYAS
(C) ‘A’ is true, but ‘R’ is false (C) ‘A’ 53590, 520 ‘R &%y
(D) ‘A’ is false but ‘R’ is true (D) A S5y, =0 'R’ 5350
B3 14 A-22-03 |




32. Match the statements in List-l with the
government programmes in List-II.

List-I List-Il
I. Provide technical 1. IRDP
skills to rural people
Il. Income generating 2. TRYSEM

activities to women

. Assist families below 3. DPAP
the poverty line in
rural areas to raise
their earning capacity

IV. Encourage social 4. DWCRA
forestry
Codes :
I ] ! Iv
A 1 3 2 4
B) 3 1 4 2
C) 4 2 3 1
(D) 2 4 1 3

33. Place the following eventualities of
impact of environmental degradation in
a sequence.

l. Global warming
Il. Inundation by the sea

lll. Holes in ozone-layer

V. Tsunami
Codes :

(A) L 1L IVandll
(B) LIV, landll
(C) IV, il lland |
(D) IV, I, and I

32. 23| & g0y Dot 56311 E° 5y aby
TEESTOS eBeWOR.
B3y -1
. edoes oo Jrodds 1.
DRYETER DPotco
[l 203730 estead Do) 2.
TSI
.@@x@@%@@@@@%@ 3.
O AIDHDY $600er0H
€500 V0BV
RDfahonaio

. TR e 4.
OYEO (FFTyTs e

&,

SSEE|

2.35.8.9.

e

SoTz
N AW =2 T
AN =2 W
- W &~ DN
w = N &

33. $o°0er S0 (EETSONY DU PBETRIOR
SO0 DESE” esmosaytoo.
| FROEB050e e o
I $5500(E55500 DS H008523¢508)
lll. 2.°5 SE° SogsSooen Ao

V.
&, :

Q0T

A) L1 IV S8 I

B) HI, IV, [X08ax0 1l

(A)
(B)
(C) IV, Il 11558050
(D)

D) IV, I, 1508050 M1

[ #

15
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34. Match the following feminist authors with
their ideological viewpoints :

Author Ideology
l. Ann Oakley 1. Radical
Feminism
Il. Margaret 2. Black Feminism
Benston
[ll. Shulamith 3. Marxist Feminism
Firestone

IV. Bell Hooks 4. Cultural Division

of Labour
Codes :
I | ] v
A) 2 4 3 1
B) 1 2 4 3
C) 3 1 2 4
(D) 4 3 1 2
35. Match the List-I with List-II.
List-l List-ll
|. Diaphragm 1. Ecological
degradation

Il. Deforestation 2. Low fertility

lll. Displacement 3. Contraceptive

IV. Increase in 4. Construction of
marriage age Dams
Codes :
I | [} Iv
A 2 3 4 1
B) 4 2 1 3
(C) 38 1 4 2
(D) 1 3 2 4

34. 8o 2TYH) YTG SBoBeD TO HTod

99 PO 3BHSEO[.
RO SRR VSV ERES
l. esS8.59 1. edsTgareo

Il 5r50efB8S3S 2. S erd Qoo
. 5o PEFS 3. 5570y, 0 Qw0

IV. 25505, 4. oD B:0 Dgsessd

oy 4 3 1 2

35. 0635150 5635 -11 & aidessiooo.

e s3Il
|. caroSo (Diaphragm) 1. Soegsses dess
Il. e9¢2d e 2. B 5 0
lll. 5 @voso 3. Do AE°EE

IV. D55 50008 2rhee 4. esdte JTEo
&,

| noomwv
A 2 3 4 1
B 4 2 1 3
Cc 3 1 4 2
)y 1 3 2 4

E7
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36.

37.

Given below are two statements, one
labelled as Assertion (A) and the other

as Reason (R).

Assertion (A) : The world’s appetite for
energy is growing and
the demands are met by
burning fossil fuels such

as oil, coal and gas.

Reason (R) : Use of dried branches

for fuel has contributed

to deforestation.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong, but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

When agricultural areas around big towns

become residential areas, the process is

called

(A) Suburbanization
(B) Urban Development
(C) Deurbanization

(D) Enlargement of City

36.

37.

8ocs 3yS Botk TTE” e.5e3 BAIES (A),
BoEERd wrdod) (R)

BOFES (A) (90808’ 58 AR
DENCsONE T G0,
A53°0E50 Borereoadd

S0, E57%, H06> g

TEEO TGO BTN
ooy (R) 1 DocoSHomits qogsisor
TCEBIROEID @930 SEBH
0 HHD
e3S° DO O 750 ?

(A) ‘A’ 5308, 20 ‘R’ &5y
(B) ‘A’ 2080%0 ‘R’ Do S8R
(C) ‘A’ 83y, =0 ‘R’ 5390

(D) ‘A’ 50000 ‘R’ Bodkr Say

BHS DQEND0 BBy HHTPOK G
QTITIT QT 57 PG 500858 9
(A) &5 35K0ESeas0

(B) SrMoeding

(C) 205 2o d55es

(D) 55 D35

E3
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38. Who has said “you have to decide
whether development means affluence or
whether development means peace,

prosperity and happiness” ?
(A) Kailash Satyarthi

(B) Sundarlal Bahuguna
(C) Rajendra Singh

(D) Medha Patkar

39. Which of the following are true in the

opinion of Thomas Luckmann ?

l. Institutions imply historicity and control

Il. Institutional world is experienced as an
objective reality

lll. Institutions are controlled by

individuals
Institutions are co-existent with other
aspects of culture

V.

Codes :
(A) land Il are correct
(B) land Il are correct
(C) Iland IV are correct
(D) Iland Il are correct
40. |dentify the correct order of emergence.
l. Indian Population Census
IIl. England Population Census

lIl. USA Population Census

YT RTA
38. GoOTE) IDTTN ? e el Ko
Eor A8 o BB, ST, SoSE 2
(A) ZoRseg
(B) 200&bed axssroroen
(C) oZEoigson
(D) Hoge e,

39. TR orEIrS es)PRabo (5750 D SOARK ?
l. 000 TOEEBID, JOTOEENRD QoPDTa0.

Il. éo@;r‘{éé @00y &8 b@g@v@?@é TR0
€I 0EIVOICE0

M. NSRRI SeSY QOO
. D0Pe0 HoBE S RIS T
EDRIHoe T
&,

(A) 1508050 1135352

(B) 150000 115952

(C) 11500030 IV 5209

(D) 150005 111:53:52
40. $od T3 DOETRL ($5008° eBoEaR00.
| erEB0% errer 88,00
Il. gorol esrer 88w
lll. 0X50.28.9. esrer 88,00

&,
Codes :
(A) 1. lland II ®) 1. lland (A) 1, l1500ac0lll (B) 1, 11508050 I
(C) II,lland | (D) 1l lland | (C) I, MBoxsl (D) I, 1s80xs |
[ % 18 A-22-03 ]




41. Given below are two statements, one
labelled as Assertion (A) and the other

as Reason (R).

Assertion (A) : In Garfinkel’s opinion,
the cornerstone of
enthnomethodology is
the ordered social reality.

: The order is a resultant
of actors indulging in
exchanging accounts of
their interaction.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

Reason (R)

41, ($ocs 3y Boch TSRS a5 EHES (A),
BocERd e (R).
BOFESS (A) 1 mO0ES e robod”
AEROBTOR ),
GRS — 2 (550 Pores
TR0
oy (R) 1 s (5500 — RS
$0508° i BT
QENHTO DXEITOR0 Fu)
2DENE B0 By, (eTso
e3S° DA B 9750 ?
(A) ‘A 5058, 0 ‘R &y
(B) ‘A’ 2080%0 ‘R’ Do S35
(C) ‘A’ 83y, =20 ‘R’ 5390
(D) ‘A’ 5000k ‘R’ Bodkr Say

42. 5r580508%) woydorrs $To @B e

42. Rearrange the Indian Minorities in the E5006° 5089,
decreasing order of their population.
|. Muslims l. S0
Il. Christians Il. EQo03e0
lll. Sikhs 1. 255,00
Codes : &,
(A) LI (B) I, 1,1 (A) L1 B) I, 1,1l
(C) 11,1 (D) 1, 11,1 (C) 1,111 (D) 1,11, 1
* M%c;h :lht? A :Intent'on behind 13, oD eERoER |
untry i i « «
the colonization Lt wééaf?ii‘figggzs EESS
of India (A
l. Portugal 1. Political goals . Pooynd 1. @%éoﬁ@gy
Il. Britain 2. Commerce Il ©exd 2. Tedeso
lll. Holland 3. Westernization . 580k 3. TFTndEe
IV. France 4. Proselytizing IV. §r5 4. 505570
Codes : SE. -
Q .
| | ] v I I n v
A 2 4 1 3 A 2 4 1 3
® 1 2 4 3 B 1 2 4 3
c 4 3 2 1 Cc 4 3 2 A
o 3 1 4 2 D)y 3 1 4 2
e 19 A-22-03|




44,

45.

46.

Alfred Schultz believes that the meaning
an individual imparts to the interacting
situation may be shared by the person
with whom he is ‘interacting’ and he calls
this as

(A) Scientific Perspective

(B) Perspectives of Reality

(C) Imaginary Perspective

(D) Reciprocity Perspective

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Human development is
the end.

Reason (R) : Economic growth is only

a means to this end.

Which of the following is the correct
answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’
is the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true and ‘R’ is not
the correct explanation of ‘A’

(C) ‘Ais true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

Goffman argued that

l. Society is conditioned by interaction
and interaction is dependent on
individuals

. Society frames interaction but
interaction is not dependent on
micro-structures

. Interaction leads to long-lasting

changes

Interaction can have a transforming

impact on social structures

Codes :

(A) land Il are correct

(B) land Il are correct

(C) Illandlll are correct

(D) Iland IV are correct

V.

44,

45.

46.

OO R
2.5 SER5 B0 2.8 558 O DA o FUTE
0 &0 & 538 Jren HEE B058° T 563
S @90 DT esio DS S odmpé G
D0 ©0eTEd 9
(A) TR0 SySHFo
(B) =30 &ysio
(C) IrsFesdBansd eyH&o
(D) 258 cy@o

8ocs 7S Bodk TTE” e.5e3 BAIES (A),
BoEERd wrdo) (R)

BOIESD (A) 1 SrITHNY OO wodwd
ng?So

T (R): =0s990 poTs)
TOOVNEISE DRSS
JeCSS0.

e3S° DB O 2997550 ?

(A) ‘A’ 508050 ‘R’ Dot S0, Sodaks ‘A’
% ‘R’ 50% A55e

(B) ‘A’ 500050 ‘R’ Bocsr 1505, 520 ‘A’ % ‘R’
K505 55Es 5o

(C) ‘A’ 53590, 20 ‘R’ &%y

(D) ‘A’ 83, 520 ‘R’ 5090

RIS TS50 00800

| 260 8550 57230 AOLOGROB. BEHS
505 55500 A SPTHCEBOOD

. B0 8500 BEres0 SO, 5% BENG
905 DIy ITIE0 P LGRS

. DO 105 SISO SrSeH oS0

. RTEE OB SRS SISO (e
QoLOE

&,

A) 1508055 I 3868

B) 1508055 [11:5863082

C) 11508050 HI38c8

)

(
(
(
(D) 11558050 [V 5863059

E7
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47.

Arrange the following peasant
movements in a chronological order.

l. Santhal Insurrection

Il. Peasant revolt in Punjab
lIl. Champaran Movement
V. Bardoli Satyagrah

Codes :

48.

A) NI 1 IVandll
B) I, IV, Illand |
C) L, IVandll

(
(
(
(D) IV, 1, lTand Il

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Breaching experiments
illustrate the way people
order their everyday
lives.

Reason (R) : These experiments do

not tell us how people
handle their everyday
lives.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

47.

48.

o8 0TSy DTOK edsBrots SoEses”
@RS00

|. Sozrd SSHrvere

Il. 0exedS" QEror SSoErew
lll. $0J°5S extsgoo

IV. x5 Sagisro
&,
A
B
C
D

[, 1, 1V 50805
[, 1V, NS08k |
[, 11, 1V 50805

(
(
(
(D) IV, 1I, 150000 11

)
)
)
)

8ocs 3y Bock TS e.5e3 BEAIES (A),

BocERd e (R).

BOFES (A) 1 “B0R” (HABTTes Hese,
D088 ATt O Ao
38’ o) DO

w8 (R): P BArTes (e, Sk ¥
BTt D Ao NS
DOALHSED)

e3S° DO O 09750 ?

(A) ‘A’ 5308, 20 ‘R’ &5y
(B)
(C)
(D) ‘A’ 080X ‘R’ Do Sy

A’ 508010 ‘R’ Bosr 505
‘A 83, 50 ‘R’ 5900

49. The First Industrial Policy Resolution 49. 200¢5e3 FOFE TR STy & DoHETo
was presented in the year BRFRTE 2
(A) 1950 (B) 1949 (A) 1950 (B) 1949
(C) 1947 (D) 1948 (C) 1947 (D) 1948
e 21 A-22-03|




50. Arrange the concepts in which they
appeared first. Use the code given below :

l. ‘Swadeshi’ (M.K. Gandhi)

Il. ‘Grammatology’ (J. Derrida)

lll. “Take-off stage’ (W.W. Rostow)
IV. ‘Socialism’ (Lenin)

Codes :
(A) 1,1, IVandlll (B) 1,1, IVandl
(C) LIV, land I (D) IV, L llland I

51. Arrange the following in a sequential
manner. Use the codes given below :

l. Agriculture
Il. Pastoralism
lll. Robo Technology

IV. Use of Machines

Codes :

(A) 11,1V, land Il (B) L1, Nand IV

C) IL L IVandll (D) L1 IVandll
52. Match the tribe / caste / community with

the state they are largely present in.

50. (Socs 08D grodens T3l [EaFedd
SPOE00 SPEONT ©9:308)000

. 208 (M.K.1v08)
Il Soeree (J. Gow)
Il &35 e %5 (W.W. 525)

V. 22008220 (823)
&,
(A) 1,1, IV5s6asolll (B) I, 111, IV 50605 |

(C) NIV, 150805011 (D) 1V, 1, 5085l

51. €0t 30 T3 HOETHOEB0S° eSoEayk0

l. Zsééﬁ“oi)o
Il $%F0es &%
lll. &°&° Joddse
V. oro@E Qa0

&,

(A) 1,1V, 150803011l (B) 1, 11, 508050 IV
(C) I, 1, IVSs8axolll (D) I, 1, 1Vssdaxsll

52. AB&S Heren / H800TP0X0R5000ed0 SES R
D529 TnE 0.

Tribe/Caste/
_ RO [ Kowkins [S0omroiiis TR0
Community State =
. l. SO0 1. BT
I. Nayars 1. Tamil Nadu @ _
I Jains 2. Bihar Il &0 2. &%
l. Todas 3. Kerala lll. Sereo 3. 39
IV. Santals 4. Rajasthan V. Sozrenen 4. coes@;s
Codes : .
%, :
| w1V | noomv
A 2 3 4 1 A 2 3 4 1
e 3 4 1 2 B 3 4 1 2
€ 3 4 2 1 C 3 4 2 1
G 2 1 4 3 M 2 1 4 3
B3 22 A-22-03 |




53.

54.

55.

56.

The establishment of knowledge — power
relationship was the effort of

(A) Marx (B) Weber
(C) Foucault (D) Dahrendorf

What is the concept used by Max Weber
to refer to the religious current that shows
a preference for the poor over rich ?

(A) Catholicism (B) Publican
(C) Protestantism (D) Pharisaic

Which of the following statements
correctly interpret Jacques Derrida’s idea
of Post-modernism ?

l. Meanings and truths are never
absolute or timeless

Il. Meanings and truths are not determined
by social and historical conditions

lll. There is a single, basic meaning for
every social phenomenon

IV. There is no pure knowledge outside
of society, culture or language

Codes :

A) land Il are correct

B) Il and Il are correct
C) land IV are correct
(D) lland IV are correct

(
(
(

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : The objective of Balwant
Rai Mehta committee
was to represent the felt
needs of the village
community.

: All needs of the people
are met by Panchayat
Raj system.

Reason (R)

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

53.

54.

55.

56.

@bo—%éé B0 508305 00D WIS,
54 208 T0E° 5O ?

(A) 578, (B) 226

(C) &¢° (D) atS=h
SOD0BOVED) DO s FR0) SoBdCDS
58y D6 3D g7 B 9

(A) =08 (B) 2853

(C) @reSedndo (D) 0%

20 GO CI0), SEHITHOBS e& 550 &+

E08 DG DB VBB

. ©g D00 5000000 Jered VPG G

RO 20 T°

Il exgiooen 50000 Qe FHRE 5000k
TOBE 20065500 AWV

. (B FHCES OAGIOITOS 2.8 Y 9gin

60008

2723500, DOR)H B PPRDEBO 5RO

SRR lefa

&,

(A) 1508050 1115663052
(B) 11508055 1:586352
(C) 1550050 IV 5063052
(D) 11508050 IV 5663052

8ocs 3yS Botk TTE” e.5e3 BAIES (A),

BoEERE wrdo) (R)

BAFES (A) 1 ([0 50000008 (Hese
€9:30258 9T O @“@3@550
HIPOVEN 2OOBT°OD
T EN0e3 A%, 0§ 0

e (R) 1 Domrondord 5555 Hee
@5T 00030 HOYIE

Ae3S° DA O 9750 ?

(A) ‘A’ 5308, 20 ‘R’ &5y
(B) ‘A’ 2080%0 ‘R’ Do S8R
(C) ‘A’ 83y, =0 ‘R’ 5390
(D) ‘A’ 500k ‘R’ Bor Sy

E3
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57.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : There is high domestic

violence in the lower
class families.

Reason (R) : The lower class people

are aware of the law on
domestic violence.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong, but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

57.

8ocs 7S Bock TTE” 2563 EEIES (A),

BoEERE s (R)

O (A) 1 D80y 5 Hewoered Ay
270K QI

w0 (R) 1 opdd Resed’ Myse 2rok
beg;’e) Xaég QIO
SDAOTV0LTE.

e3S° DA O 1997550 ?

(A) ‘A’ 5308, 20 ‘R’ &5y
(B) ‘A’ 2080%0 ‘R’ Do S8R
(C)

(D) ‘A’ 5000k ‘R’ Bokr Say

‘A B3, 50 ‘R 5000

58. Match the author in List-l with the | 98 2851 & % oesons sl & 9
concerned book in List-Il : FToesHo008 H0egya:
List-1 (Author) List-1l (Book) S35l (oY) Se3s-ll ((Hognoo)
l. Anthony Giddens 1. Writing and | <08 e, 1. Be30f ol 5505,
Difference “
IIl. Michel Foucault 2. Dependent Il. Do PE° 2. C0Gg
Accumulation and WEFH0dRS wob
Under development 090 BRSeT 5005
lIl. Jacques Derrida .Spegtrgm of Il =35 aoe 3. 1S &5
Capitalism
soedes0
IV. A.G. Frank 4. The Birth of the
Clinic IV. A.G. o8 4. b esd &g@g
5. The Constitution 5. & 5°5Q0rRS e
of Society el
Codes : &, :
| Il ] v | Il ] v
A 5 4 2 1 A 5 4 2 A
B 5 4 1 2 B 5 4 1 2
C 2 1 4 3 © 2 1 4 3
d 4 3 2 A ) 4 3 2 A
B 24 A-22-03|




59. Topography can be described as : 59. JoHBD D Desor DHOoWHHY) ?
(A) Land (A) &7
(B) Water (B) o
(C) Detailed description of a place (C) =8 @éﬁo@& BT 500
(D) Climatic Condition (D) Troes0es 30550
60. Who was the author of the book ‘Invisible 60. 352220 8235 e HRESW Boos, (oSS
Religion’ ? 585 9
(A) Erving Goffman A) J6c0h A55rS
A
(B) Peter Berger (B) 8 ex56
(C) Talcott Parsons (C) erdseel Sy
(D) Thomas Luckmann (D) o erbioes
61. Workers in automated production forming 61. XE00TVE GHHE” $Eed DY HORTED
the vanguard of the class struggle was TPAIEBI0 K70 DD i:&bvgdo ?
seen by (A) 9. 895
(A) V.l Lenin
(B) 2§ 55e5
(B) Serge Mallet ® -
(C) Duncan Gallie (C) Gosomg
(D) Karl Marx (D) s655byy
62. According to Anthony Giddens, the | 92 052 MGG B5°00 exiadiser By, 350
. . o 53108 T3S° D 2
dimensions of modernization are
|. Capitalism I' d&gmémé IO
_ II. es5% %
Il. Economic Power ® =
. S*oE~0%s
lll. Industrialism
IV. 22538
IV. Military Power
&,
Codes :
(A) 1, 1land Il (A) 1, 150805011
(B) II, llland IV (B) 11, 1508050 IV
(C) I, IVandl (C) I, IV 50805
(D) I, llland IV (D) I, 508050 IV
[ = 25 A-22-03 |




63.

64.

65.

According to |I. Wallenstein, core
countries focus on

I. Higher Education
Il. Labour-Intensive Production
lIl. Higher SkKill

IV. Capital-Intensive Production

Codes :

(A) land Il are correct
(B) lland IV are correct
(C) llland IV are correct
(D) land IV are correct

Berger and Luckmann are of the view that

I. Man’s self-production is always a
social enterprise

Il. Man is a product of society
lll. Men can change human society

Men together produce a human
environment

Codes :
(A) land Il are correct
(B) lland IV are correct
(C) land IV are correct
(D) Ilandlll are correct

In a study entitled, “........................
Duncan Gallie attempted to test the
theories of Blauner and Maller.

(A) Interaction Process Analysis

(B) In Search of the New Working Class
(C) The Affluent Worker

(D) The Post-Industrial Society

63.

64.

65.

2. TBEYS TS ©5°0 ‘€6 Dzmen B Docs
o8O0 ?

|, €si5y® a5
Il @50 esor0® &g
lll. €550 DDersen

V. éaéaegaa& ES°08 e

&,

(A) 1500050 1115259
(B)
(C)
(D)

11355805 [V 5059
150805 1V 5859

| 5580500 1V 5059

255 50000 erESTS $yFes”
| S0 K508 TS0 A KT TETRY
GBI
Il SISl IRTRE GBS
lll. 5535w B0 S8l Gy Yo

BIEDHOOEED Fod $IHH TTRHTETN SIS
BVO et

&,

(A) 1508050 11505

(B) 11508030 1V 53
(C) I 308a50 1V 500
(D)

11355805 1115852

C

D
D ex500508° 796, Breb Moy, Aromrey
508 sd H030BEIS HADG T ?

(A) 30LITES (PR ITORR

(B) 35 58 5 & S5 50, 0h T

(C)

(D) &5 306 R0%8 el

& e)aboes 58,6

E7
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66. Match the sociologist with his work.

(Author)

I. Alexander

II. Habermass

II. Althusser

IV. Goffman

Codes :

(
(
(
(

I ]
A
B
C
D

N W = b
A =2 N W

)
)
)
)

1.

2.

- b~ WO DN

(Work)

The dark side of
modernity

Towards a Rational
Society

The reading capital

Asylums

v

w N A=

67. Arrange the following stages of
development in a sequential order.

l. Literacy increased the awareness
about health and related issues

Il. Lower mortality has contributed to

longevity of life

lll. Humans had taken to agriculture

from hunting

IV. Human beings became literate

Codes :

(A) 11,1V and Il
(B) 1L, 1, 1l and IV
(C) I, IV, land Il
(D) 11,1V, land Ill

(buax®)
l. @@7;0625 1.
. 726555 2.
. esdeseod 3.
V. m550S 4,
&, :
| | ]
A) 4 3 2
B 1 2 3
(C) 8 1 4
(D) 2 4 1

0TS0,

66. 5 (S0l T3 BBRSTWORW.

(o)

& @b, p& e
27esoneS

€030 5 2 B35S el
& 8Coh 520605

TESSIG

w N~ =

67. $ocs 08¥) PSR TS E50DGHS

| 3o &R0 w80, 356 H0200H WoT°

20 GIDTTTOR0 0WD0.

Il. 855 $o8eT0 £ D) DOVIB.

. S0 &35 500 2652631’0:13 5850 20

SE, -
(A) 11, 1, IV 508055 Il
(B) 11, 1, 11508050 IV
(C) 1L, IV, 155000 I

(D) 11,1V, 1558055 11

QDT BFT GO0

E3

27
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68. Objectives of critical theory are

. Study of social, cultural conditions which
are prerequisites for emancipatory and
equitable society

Il. To study Nazi anti-Jew movement
lll. To separate theory and practice
IV. To study communist behaviour

Codes :
A) land Il are correct
) land lll are correct

(

(B

(C) lland IV are correct
(

68. o5 TEs drroso (835 Gand) @y,

%&;)?"?S@J .

|, s8R0 FTEE S80I TR0 Mo 550
§°00 e5HEIPN TSIRE, Jo) )8
DBRBOV BEODBO DKo

Il & 3oy, aordon $583E &dss900
(35000 DO

lll. croBo 500050 est5Eeas JT7en DABE
IV. 85057505 (88555 exgssoibo Dabeso
&,

A) 1508050 560305

(A)
(B) 150800 1886309
D) llland IV are correct (C) 11558050 IV 50052
69. Match the concepts with the thinker. (D) 11508050 IV 2583059
Concept Thinker 69. 52 (200 T3 eBHSHE.
|. Role Distance 1. Schultz T ?an)aoé§§
Il. Life world 2. Garfinkel | 0 S0 1. 508
lll. Breaching Reality 3. Goffman Il. @50«)5%5 2. mEH53S
IV. Neo-functionalism 4. Jeofery . Ddoh Basrdes 3. mHIrS
Alexander IV. 96 sogode0 4. e eyt
Codes : £, :
I I n v | il ] v
A 1 4 3 2 A 1 4 3 2
® 3 1 2 4 B 3 1 2 4
© 2 3 4 1 C 2 3 4 1
D 4 2 1 3 O 4 2 1 3
B3 A-22-03 |




Q.70-75

Read the passage below and answer the
questions that follow based on your

understanding of the passage.

It is a pity that caste even today has its
defender. The defences are many. ltis
defended on the ground that the caste
system is another name for division of
labour and if division of labour is a
necessary feature of every civilized
society then it is argued that there is
nothing wrong in the caste system.
Ambedkar argued that, now the first thing
is to be urged against their view is that
caste system is not merely division of
labour. It is also a division of labourers.
Caste system is not merely a division of
labourers which is quite different from a
division of labour — it is an hierarchy in
which the division of labourers are graded
one above the other. In no other country
is the division of labour accompanied by
this gradation of labourers. There is also
a third point of criticism against this view
of the caste system. This division of
labour is not spontaneous, it is not based
on natural aptitudes. Social and
individual efficiency requires us to
develop the capacity of an individual to
the point of competency to choose and
to make his own career. This principle is
violated in the caste system in so far as it
involves an attempt to appoint tasks to
individuals in advance, selected on the
basis of trained original capacities, but on
that of the social status of the parents.

S0 JINS T FETY IAJ T S06 FNS

(DO DRI Mo0CE.
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GO £ S5 O Gt 8 oo
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DO HO Fg5Y 508 TR0 (530 efesd T3
@8 FA00 Pus e 9 wodli)d
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5°5000° @8 (B0 gTesdS0 ST €:06000. &8
TR0 JPerdids w8 P ased 5685003
SHTRONS @3, RE° (1550 DgTesd eS8 @O0
B3 50 ot (KIZ0D D 388 Do S S».
0 S HFBIOM ST WWGETT &0l
859 (550 DaesRd e B0 S, 30 e
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0008 DB BROEWERO THCES, J0IS
b:ﬁoc‘%é& WRIJ3T0. B3 A®o oo ;5553“8@5’8
€Q0PV0WCE0 WEHE0D. H5E0E Teood
250080 70 e BT SiIre 0T 50 SO
250G 770 $OSoEre TETEE oSy

85T 3P0 DOROWCEE0 2380,
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70.

Now the caste system will not allow
Hindus to take to occupations where they
are wanted if they do not belong to them
by heredity. If a Hindu is seen to starve
rather than take to new occupations not
assigned to his caste, the reason is to be
found in the caste system. By not
permitting readjustment of occupations,
caste becomes a direct cause of much of
the unemployment we see in the country.

Consideration of social efficiency would
compel us to recognize that the greatest
evil in the industrial system is not so
much poverty and the suffering that it
involves as the fact that so many persons
have callings which make no appeal to
those who are engaged in them. There
are many occupations in India which on
account of the fact that they are regarded
as degraded by the Hindus provoke those
who are engaged in them to aversion.
There is a constant desire to evade and
escape from such occupations. As an
economic organization, caste is therefore,
a harmful institution, in as much as, it
involves the subordination of man’s
natural power and inclinations to the
exigencies of social rules.

Ambedkar regards caste system as
(A) nothing wrong in Indian society
(B) a division of Labour

(C) a division of labourers

(

D) an essential feature of a civilized
society

70.
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71.

72.

73.

74.

75.

Which of the following is peculiar to
Indian society ?

(A) Occupational specialization
(B) Hierarchy of occupations
(C) Endogamy

(D) Caste as a political unit

Caste system
(A) permitted free choice of occupations

(B) did not permit free choice of
occupations

(C) allowed social mobility
(D) did not allow social mobility

The main problem in the industrial system is
(A) Poverty

(B) Suffering due to poverty

(C) Caste discrimination

(D) Unappealing occupations

The lower caste people are averse to

engaging in their traditional occupations
because

(A) They are not interested in such
occupations

(B) They are interested to choose their
occupations

(C) Of the stigma attached to such
occupations

(D) Traditional occupations are not
remunerative

Caste is a harmful institution because

(A) It involves subordination of man’s
natural power

(B) It does not permit inter-caste mobility

(C) It encourages exploitation of lower
castes by higher castes

(D) It never integrates lower castes with
higher castes

71.

72.

73.

74.

75.
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Space for Rough Work
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